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Q.1) 808 TES® IS Q) HBoS[0E.

RS, 58, 50, HisS
[A] &5

[B] &80

[C] =8

[D] 825038

Q-2) J(1-5in8) = (1-cos’s) &0 éf’é&é@@tﬁ@&.
[A] Cot6

[B] Tan®
[C] Secb

[D] Cosec6

Q-3) 808 FES® HH)P0d D&?
28, 44, 68, 80, 92

[A] 28

[B] 44

[C] 80

[D] 92

Q-4) &8 Bsrd8b B8 $5rK0?



|A] 10 885° Dexh
[B] 10 &ext%

[C] 100 dex5
[D] 10 20865

Q.5) BorrS Tl @ O SO HeoTBn?
[A] @@

[B] s394

[C] A58

[D] o358

Q.6) TEACHER: BOOKS @ox»@ DOCTOR: ?
[A] =B

[B] 286

[C] 280%,5

[D] &&s

Q.7) &8, (BRICS)S® B & Ba°Q) 2o0008?
[A] @orrds

[ B] 380

[C] B&d

[D] egronS

Q.8) Soyese ) JToeP D DH5L?
[A] 20 363



|B] =535
[C] @éoﬁ: 269)@%5”683
[D] recsd

Q.9) B:°S BoB FriS LK, HUS S0} B, TS Sod) K4S e, 67508 Bodd
0. B40S, S8 Boi S085 PENE. DEEBE FEFHTE D5E?

[A] IS
[ B] 028
[C] €088
[D] 858

Q.10) HBHrHH0B0S® DB HHRBEHK) & Bo& $0oth 538 e Dy @;260&’3’5
€OET?

[A] D28 o

[B] 950 09 Bo&® o
[C] 2558 5000 &l o
[D] 958 $209 crenfi® 0

Q.11) oBorer HeEe KHEB0 DB dRE?
[A] evSend

[B] S8

[C] b

[D] ersS

Q.12) o865, wesdhen 2.8 DIV SHIM™ 9, 12 Berd’ 578 T, Er 02 & HAV Ay
Ferd® e DR
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Al S-
[A] 7

B 111

[C] 2°
[D] 7

Q.13) &8°)98, 5 BB ELofPTEH?
[A] RO®G> ROO

[B] £%56,8%

[ C] a8 Komgeod

[D] 2856

Q.14) 808 (5 2.8 Hseermrdih a8 T30St @S 8Y Hoa Krrdod. ol
SGPEOTT HEHTE0 00 HTTE0 HBH I DL ©HMERER s 08 .
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[A] 39
[B] 38
[C] 40
[D] 36



Q.15) 556 o8 I56?

[A] 966° St wibh 58

[ B] 0852880 E0spseb st Gerdd edirdos &8
[C] 8886° Bosgrgeabordn eahy $58

[D] & sedyo B2t T 58

Q.16) ®oa J50bErs™ BeHesoS Y dSrorr &) 3ot Sere Dend?
[A] 30°
[B] 45°
[C] 60°
[D] 90°

Q.17) Gokoen 850 88T Faraw. BoHS® HD &oeod?
[A] ©98yR

[B] 28R @ @8y&

[C] &85, )

[D] ©2&)

Q.18) 8ob ES® SAVow 58 episego NG AB?
[A] 88 50 So&mgeoe

[B] &r&s0s5S

[C] =°8y7°8

[D] 2656 afer



Q-19) 3ok 5B Soagd® 3nesed Kogygdd Ly Bew @0 ol Koy Sok 3& o0&
5 %)% wowd @ $ogyen H?

[A] 5.6
[B] 6, 7
[C]7.8
[D] 9, 10

Instruction: 1, 2, 3, 4 @93 TP @ﬁ%;@_@&é éEﬁPWF\P@Dé& 2.8 @6%&5@”3& @2608, aJeeld,
00, B 0% PO D, TG FHoDS @b)b AT 8o &od.

Amar Babu Cera Diya
00 e°e e &
Q 2 1 1 3
Q, 4 3 2 4
Qs 3 4 3 1
Qq 3 2 2 4

ee Q) (PEYOB ST JPEPTeen TPERK). @H0 S0 3ot JLXrTeTPod S yEorr
BT ToBe. BX5 Botd BB KB SLPrraren ToR08 Q) TPeni’ (KHE) SrEo
S0 50 By, ©55, Woven e.E%E5 6.8 Sy FPomh.

Q-20) e TR O HEHD SO $Srerso ToRos?
[A] Q1
[B] Q2
[C] Q3
[D] Q4

Instruction: 1, 2, 3, 4 &3 Sreoid axi0g)s Srmrarend) e ©E)HEed) @8, area,
0°, 55 05 FPROTO B, B FHODS @)5 5 8o Gob.



Amar Babu Cera Diya

905 eyen o0 &g
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Qs 3 4 3 1
Qq 3 2 2 4

een Q) (PEIOB ST JSPEPToen TPERE). @HO S0 Bot JLXrTeTPol EdyEorr
S TP, B33y B0t 808 IBK SXTEPTeey TR0 28 Trenft 98 Je&o
B Bore 8. 3085, Joeen &S"gyé&ﬁﬁ) a8 éf’tﬁ)g, SPOTPSD.

Q-21) B35 & Botd P ST Srreren TR0B?
[Ala1. Q2
[B]Ql . Q3
[c]Q2. Q3
[D] 23 , 24

Instruction: 1, 2, 3, 4 @93 TP eaé%?_%é éé&“ﬁ”@"@é& 2.8 @ﬁ'g&é@"’@& @925)5, P,
A0, 55 O FEOTO B, B FHODS @S)5 5 8ok Gob.

Amar Babu Cera Diya
@00 e°e0 o° &g
Q; 2 1 1 3
Q 4 3 2 4
Q3 3 4 3 1
Q 3 2 2 4



272 @) )5 B JLXPTeTren Teael. 900 305 Bodk S&rgrared Siydore
ST ToER. B Bod KRB BB Brrearen TeR08 00 Trenf® (KHE) Sr@o
gD Bore 8. 900, Joeen 2.8%8)5D 28 o) PomedD.

Q-22) Q4 BED I $or Skrgrdo Toaedh?
[A] 09508

| B] eren

[C] &5

[D] Sbsocs

Instruction: 1, 2, 3, 4 @:93 Jeed aao“m?_z‘i)ﬁ ;6265"@"@@?6& 2.8 @6%&6@13& @é)g, aJeeld,
00, B 0% FPHoOTO B, T FHoDS @b)5 AT 8o &od.

Amar Babu Cera Diya
00 e°e e &g
Q 2 1 1 3
Q, 4 3 2 4
Qs 3 4 3 1
Q4 3 2 2 4

een Q) (PEYOB ST JPEPToen TeERK). @0 S 3ot JLXrTeTPod EdyEor
B ToBe. BX BotdH BB HBK SLerraren 008 Q) TPeni’ (H6) SrEo
S0 80 $i). ©55, Booen 2.E%E5 6.8 ey FPomh.

Q-23) &F 1D B BodS T I ToH0S° G0b?
[A] Soitbomg

[B] a88:588

[C] eoeaol

[D] Ho85966



Q-24) 808 1) BHS” 7’ PJod” GoTON Sogy EE08.
6,12, 20, 30, ?, 56, 72

[A] 40

[B] 42

[C] 44

[D] 48

Q.25) g8 TreRsorel) SNELIOM 3K $HB0wE?
[A] 1949
[B] 1951
[C] 1952
[D] 1953

Q.26) Hy80: Sy HOO wond FEBEo:?
[A] gbez0

|B] ga°e50

[C] e oo

[D] 880

Q.27) 808 B3S® E8eao HTEP & B TodE Ereseded?
[A] B85

[ B] 250300

[C] ©3&8,

[D] Sone5 %0k



Q-28) Soh BES® &) el G0isro 87?
[A] e 2

[B] evse 10

[C] o 10

[D] o28s® 11

Q.29) 107.03 £09 Jo& ] 96.4 $08.
[A] 1.63

[B] 10.63

[C] 10.53

[D] 9.63

Q-30) 80& 3% Joayed @8 e Ehos® @88 Lie® God Hoag?
4456, 4465, 4655, 4665, 4565

[A] 4456

|B] 4465

[C] 4565

[D] 4655

Q-31) 16 S8&re0, 4 $T°w ©20 Jo&?
[A] 8

[B] 64

[C] 16

[D] 256



Q.32) 808 TBE SSB D67

[A] 1 Gigabyte = 1024 MB

[B] 1 Gigabyte = 1,000,000 Kilobytes
[C] 1 Gigabyte = 10,000 MB

[D] 1 Gigabyte = 100,000 KB

Q-33) B A H5r55, CH 80@. ©omd (& B 250deEe.
[A] o

[B] S

[C] &8

[D] $oi655¢%

Q.34) XCVI=?
[A] 116

[B] 496

[C] 96

[D] 84

Q.35) ©%05 Eob (89) ae5h B & B8 aHB0erS?
[A] 50, 28

[B] 58, 24

[C] & 24

[D] & 28

Q.36) 'CCITRKE' 6% evgtre 5000 3188 2008 H506° 08 @580?



|A]C
[B] K
[C] E
[D] 1

Q.37) 8ob T3S 33 KoFrEE Sheen @otrEH?
[A] 8% 380 180°

[B] %o 380 135°

[C] &°ere Inko 75°

[D] Seee Bo 90°

Q.38) erdERE o Dorerns® Gr 68 B’ oF Jerrd) A Be EH?
[A] 58 35555

| B] Seee {oer& Soiets

[C] S5, reod

[D] Sooioeay a5

Q-39) &8 @100 SrHIT ToEs.. W50 B0 G @d)0hy SoGmed HSE Eredd’
OTD. & @357 Jon ToENL D) E0H?

[A] 80

[B] o

[C] Q%8
[D] so8&e



Q.40) &8 K58 144 B0z 8. 36005 §°Q a8 @y 10% erdfo Pomreos
52305 D0& 97

[A] 25
[B] 30
[C] 33
[D] 36

Q.41) 808 et BoK @8 Boe® 88 Bord Kl Do 88408,
Singer, Single, Sinister, Simple.

[A] Single

|B] Singer

[C] Sinister

[D] Simple

Instruction: o0& $&rmroel) S6, 808 KB 0B JSLdreearen T°eHod.

40 o0& 3@5@@3 &) &8 SEHKOS® 28 008 S0, 30 L0080 Benid Svvlhabla e v
OSBEKBSEY o é)megé‘%@o DEP 2.8 o BB Setrieed.

Q.42) 8500 Benid PRt ertra D580 0 08?
[A] 8

[B] 10

[C] 12

[D] 14

Instruction: 8o& J&raeoed) I6D, 80d HE)0E JSXrerTeen TPdHod.

40 o0& Sbmegtﬁ@)en &) &8 SEKOS® 28 008 S0, 30 L0 Benid Svwlabla e b
OSBEHKBSTY o é)magt%@o DEP 2.8 o B8 Srerthard.



Q.43) 8500 S0¥ gPHD °Era Smgi%e)o Qo Hok?
[A] 8

[B] 10

[C] 12

[D] 14

Instruction: 8o& J&roeoed) I6D), 8od HE)0E JSXrerTeen TPdod.

40 ook 8){3056@3@ &) &8 SEKBS® 28 K008 W0, 30 L0 Benid SvwlhablaLleb)
SBEHKBSEY o @magégen DEP 2.8 o B8 Srerthard.

Q-44) ¥, BeorH B0l 0B Erert Smrsden Jod Hob?
[A] 12
[B] 15
[C] 18
[D] 22

Q.45) o838 Besso G, H?

[A] 8o 8yeosiso

[B] Do 80208008 $o88ee et HodEo
[C] godd O?mé& J°8) ¢50°TeQ)) X)) DHEo

[D] @&rmre e2d5r00 B0 seariéoo

Q.46) @orrdE (§588 Bo &HTte Sogy?
[A] 1
[B] 2
[C]3



|D] 4

Q47) erB8BE0S® T°apR8 SPERNTERE ©hD8 AH?
[A] ©rdsoo®@

| B] g8

[C] 808%8) $ed Tychsrd

[D] 58,5

Q.48) Botd Sogse o0 35828, K.30.8°. 26 ©0ond E.9°.10.?
[A] 931788

[B] 689

[C] 1378

[D] 3583

Q-49) 808 783S° JT Toeard DQ?
[A] 28°8305°

[B] £%9%

[C] o&wse

[ D] e08&aso

Q.50) & Bo@mdd 8, b $ b WS, Qo B &b VB, o VB D Bod
@ond &b VB DX HeRS?

[A] $og
[B] 8
[C] REesoe



|D| 2856

Q.51) oeer 4 38%S° 67, 69, 78, 88 &retneo SPomrt. @8 JTPK0 80 St e
POTTO0E 5 K)&S)gés Ay Heddy e EPoTRO?

[A] 88
[B] 90
[C] 96
[D] 98

Q.52) DD D5 ESPTE?
|A] 005°S OA

| B] ©8rrosb 0oh

[C] 58 5580

[D] e8rrosb reirond

Q.53) B0&CHS SIS PORD Bowed D8 DRBID 0Bes ©dH ©@d 0805 Powe?
A] 555835 Qordsesies oo

[A] 5

| B] @6589053326 €5¢35500

[C] $50%0 e &0

D] &5 208 e &0

[D] & 5

Q.54) 2014¢8° A %6585 AyBen axbrron?
[A] 168
[B] 195
[C] 145



|D] 235

Q.55) ‘@ 8cHS &S 0 O erE 58 H%H ob?
[A] 25 868

[B] 30558 @09

[C] 9806 5°05HS

[D] ez eond

Q.56) 2011&° 8RR 8% whardo wond 20126° 88508 O 6% 0dHBob?
[A] a0

| B] Soorfdardo

[C] eSS0

[D] Haedo

Instruction: 808 ®0d°e SO ST TPANOE.

D108 @PDEes Qo om0 Tz M AT ErtoyTS. S, Hode ST SEI™
HAETD, DEHBDE EPETND.

0RO, EFP50 0G50 PR ErdoA God.

Q.57) TPHV, Brdre L0y JoB0 ePOEeD Lt T8 ?
[A] 1

[B] 2

[C] 3

[D] 4

Instruction: 808 ®o03°e STEOMT PP Pre) TPON0E.



D08 EPDELD Q> S0 T D AT ErtoyTyB. S, ST ST SEX™
©HAETD, DEHBDE ERETND.

208, Bgo s THY ER D S0,
Q.58) So555° DB B T E>?

[A] 5o

| B] &8

[C] $o7°®

[D] &5

Instruction: 808 ®o03°e STEOMT HTPTPIPe) TPONOE.

D05 rDEo L Sopo Tz D A ErethyTh. i, T ST SHIT
HEB, IESHBHS ERyTS.

0RO, ETP5e 1&g PRI ErdoA God.
Q.59) BB BAID Ll T H5B?
[A] &%

[B] £0=°®

[C] 5%

[D] e

Q.60) B8 $epd) Y eIrBOTD?
[A] 1919
[B] 1921
[C] 1923
[D] 1916



Q.61) Blunt: Sharp @ond Sow : ?
[A] Reap

|B] Seeds

[C] Farmer

[D] Crop

Q.62) 808 ES® s Bez0d d&?
[A] S5m0 et grgosren

[B] 285

[C] eea0 2088 efyHdB:E OB yeommen

[D] 5%

Q.63) 808 &S® D Fod dB?
1,8,27, 36,125,216

[A] 1

[B] 8

[C] 36

[D] 216

Q.64) &r. 37,500 wdenm 8a°s0 é@zﬁé 3ew ©8 J0HEB0 TR 38 1%
D0R& B0 &T°sE BYOT DN InE0 QoE?

[A] Rs. 42,182.40
[B] Rs. 42.000
[C] Rs. 42.120
[D] Rs. 42,812.40



Q.65) 50 0 100 &°Y HrS Jogge Sogyy Jos?
[A] 6

[B] 10

[C] 13

[D] 5

Q.66) 1 A0 12 38 1 Koers® dod aedo
[A] 2%

[B] 12%

[C] 11%

[D] 1.2%

Q.67) 808arBS® DS ) 1$80H08 .
DBy S #5385, §5°%, &awd Sooe, S0k &F,
[A] QB85S 556 25

[B] &%

[C] &3¢S SSooe

[D] 8oar§ &5,

Q.68) o Koten 15, 20, 30 Ao HsHOS® IpiddEr Garon. 6iaho 11 Koted
Ho0ot 0toen 280 FeAB, HY & Lt Kowen e.8F8 Jrrheean?

[A] 11.30 am
[B] 12 noon
[C] 12.30 p.m.
[D] 1.00p.m.



Q.69) TREEMER PESBF0S® o ©BorHIET?
[A] 1492
[B] 1498
[C] 1948
[D] 1857

Q.70) stHrH 9@5@@) 20508, 08, IS, e, BASTRen 28 38.3_:._3 QenHTNED.
20508, odSen BT o8 K00k QenHTED. BUrS, 8 0“1365565’3 2085
QenHaey. $odS, Hbe DS BAPS JenthaeH. Spp S0 SIS AN GToH?

[A] &%

[B] %08
[C] B
[D] &05r08

Q.71) 808 &3S°® HEEeacdden O zéégoe?s &0800?
[A] @¢s*sdae

|B] so& e

[C] 23R8t

|D] 0930

Q.72) A 2& B & 5/8 $oék ¢oenod. B &), A d&e IS Jod?
[A] 5:8
[B] 3:8
[C] 5:3
[D] 8:5



Q.73) 808 &S srBS arain) ) TA WoLrd?
[A] @58
[B] &3S
[C] 0&S
[D] eng&S

Q.74) 2885 axdnys® HAireddr 35 o8ES Yoeredd 1 QAK08° Trendn. Botd
Q8ES Kogre iy rdo 50 et wand wky S0 Jos?

[A] 112 8.8»./%o.
[B] 102 &.8v./%o.
[C] 110 8.8»./%o.
[D] 120 &.8»./%o0.

Q.75) AMERICA=1734651, INDIA=68961 won@ CANADA & dos?
[A] 719181
[B] 518191
[C] 519581
[D] 715148

Q.76) &8 J5seod® 2/3 Hodh 15009 12 O Sahd 68 doen &I, JOS® %
H0& 1 H0d 8 DY HHK) e G, 9 Hod 12 AF Hovdk &) bee griro
20&?

[A] 1/3
[B] 1/4
[C] 1/6
[D]1/2



Q.77) Boewer 20 BdHo 8)E Gok?
[A] @y5:56

[B] 0%

[C] 208"

[D] o8

Q.78) COW=41, GOAT=43 wond DOG=?
[A] 47
[B] 38
[C] 25
[D] 26

Q.79) 2.8 802D 090 HATD HOKH0E 655?32‘%@3 2.8%8,8 36,200 EearddHen
0BT, 15 £08 GEP5rhen e.8%%8 33,550 Erarchen SPotHEardh. ©ond
B0 GEP5He STPHd S850 Jod?

[A] 34,875
[B] 34,610
[C] 27.900
[D] 36,410

Q-80) T HAH B0 WS EHE HHB 4 Bén Gonod. 8 $oLS Tre
Boe Tom DO BLPBHE F0H0 3 Bén @wand a8 DS Habhdren Jod?

[A] 60,15
[B] 40,10
[C] 20,5



|D] 32.8

Q-81) oae &8 argo8 F0d &r. 2,75,00008 08 °Sme B0, @R $oHBTeIS
8% $& &S 3 HosBore oegd &r. 335000 InBos® ren &S $e5 Eree &Y
@ {7625 58 o?

[A] Rs. 60,000
[B] Rs.6,000
[C] Rs.66,000
[D] Rs.6,600

Q.82) So& @roa@een A, Bo 30e &0 300 &.%. acgiia R5Boen 85260 S 28
{50008 DBLE™ A, B £009 axdhentoed. 2.5 Kote o8 0 05 Le8o
25 8.8, &8 368 Sifo H08° K068 Siso Bo& 10 8.80./K0. AESB @ Jrpéad S0
oB?(8.80./Ko.o)

[A] 50 and 60
[B] 30 and 40
[C] 40 and 50
[D] 60 and 70

Q-83) 088 BB B0 FE0E?
[A] S0 S3°8

[ B] otodrednts

[C] o2

[D] &85

Q.84) ErAHrE $y¥50 @%@% 308067



| A] 80E
| B] s0&5foegy
[C] o3B3 E
[D] eu&

Q-85) §%5), Baredird) A8 ABOTRER MBI SK0@°8?
[A] ore Seneyors

[B] $820585—1

[C] 9557°%

[D] so8rare

Q.86) Dt hemenisy orrsbEd HHotrs:?
[A] SoereS
[B] 38y
[C] e@meS

[D] e

Q-87) &0 3 moed 0 GBS HENB $EXK0 @B0dod 56 Grdo Eoogd AEHSD
80N Sorg® §°6 Brdo JGD DG S BON0. BTogd B°Q &rdo &N HHEJHIH 8BA0Y.
2080 8D ) HENB WOLWPOTT G0H?

[A] &8
[B] 6558
[C] s850
[D] $&es0

Q-88) Cot A= 12/5 @owd (Sin A+Cos A)x Cosec A Qendd do&?



|A] 12/5
[B] 17/5
[C]11/5
[D] 2

Q.89) 808 Botdh B, 038 H00HONI éﬁq;éeaen €50°)00.
ESISTMNIOW:
1. 8y dBren redesen
2. @y P& en somedoen
»
QoeSeaen:
(]

3. @) HFhen oreden

Y
4. 8y HFen Loreden

D
Choose which of the conclusions are right.
2 NTeBeaen HOGD
[A] 3 SrBD 8336
[B] 4 S8 $858
[C] 3, 4 Bor 3338
[D] 3, 4 Bo&r 333 =2

Q.90) 8 JTedR W PEIPRS® &) M0 D DEI?
[A] 5°8) e

[B] S°0a8 Qb

[C] 088 0

[D] 065328 Q08



Q.91) OF) Sod&yore B0 IS 2208Hen, S0E) e, BBS BH© NI
08800 ersoHhdo 5 6@5;&)01 A0S ?

[A] sogared

[ B] &8, Gered
[C] S®chotred
[D] ardseed

Q.92) (a2 —=b?) + (a + b) = 25 @B a-b Den?
[A] 15
[B] 18
[C] 25
[D] 30

Q.93) &8 SwreBo @) HESTeD FrE0 PoSEEIS 808 & Hirel HBHT grSos’
e Eetn ?

[A] ©98y2R
[B] =68
[C] s
[D] ge5°es

Q.94) & wsPBE0 AWE?
[A] 0,835 o8f¥o
Q
[B] @68 aren
[C] 82,8308 /*¥o
[D] Agesedo



Q-95) €08 2 To extn FNQINHE BHSOE WoBTBD ESE) Jrgn BHPaN?
[A] ®0008, 82805

| B] s01508, 5%0&5

[C] S dRa), St

[D] e300, sodaie

Q.96) 80b 83S° 08 D) Poko d&?
[A] @é@o‘ﬁﬁ

B| ©0¢30) 8350

| )

[C] &se

[D] 5860 93005

Q.97) 2885 2.8 Baod o 258280 $508° 6r.42000% HEowoird. ©8H 25580
g0 POl & Bend K oS WXT0?

[A] Rs. 1,400
[B] Rs. 8.400
[C] Rs. 7,000
[D] Rs. 5,600

Q.98) &8 B8orio GwE) P50 HONS T S8orBE0?
[A] 28r0&008.
O
[B] &80y &0
[C] e‘éﬁge‘ﬁ:oc‘b
[D] 308088 Yomoso 8



Q.99) &8 ¢rg0B% Sotdh Hodew X, Y en 5, 10 Kobred® Jodn. Z Hod & ersodd
20 ﬁoéaéj 58 T, L) HoHeD 2,830 369 ¢°5080 Q) ﬁoéaé(f 0&¢06?

[A]'5
[B] 4
[C] 7
[D] 8

Q.100) @S 100 B°& rHEto .68 a8e3 S 5, wokhe® 25 8°8 Hgs 10%
g8, 25 84 D5 25% $apd8, ADS 1HE 20% ererd8 98 &ndo sl
w8t Fol oY T B 80 dod?

[A] 6.25% S350
[B] 6.25% eraso
[C] 8% ergfo
[D] 12% S0
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Explanations

Section 1

Q.1) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.2) Explanation:
1 - sin?0 = cos20
1 - cos?0 = sin?0

2
cos” 8 :’\,IICOtz 8 =cotd

sin2 3]

Q.3) Explanation:
8x3+4=28
8x5+4=44
88X 8+4 =068
8x9+ 8 =280
8x11 +4=92

Q.4) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



Q.5) Explanation:

Multiple Choice Type Question:

Q.6) Explanation:

Multiple Choice Type Question:

Q.7) Explanation:

Multiple Choice Type Question:

Q.8) Explanation:

Multiple Choice Type Question:

Q.9) Explanation:

Multiple Choice Type Question:

Q.10) Explanation:

Multiple Choice Type Question:

Q.11) Explanation:

Multiple Choice Type Question:

Q.12) Explanation:

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

%5 + @esden 2.8 S H

_1 i_4+3_l

a6r §03°
_36 .1
7 7

36
D I°0 3 SPeren



Q.13) Explanation:

Multiple Choice Type Question:

Q.14) Explanation:

Multiple Choice Type Question:

Q.15) Explanation:

Multiple Choice Type Question:

Q.16) Explanation:

Multiple Choice Type Question:

Q.17) Explanation:

Multiple Choice Type Question:

Q.18) Explanation:

Multiple Choice Type Question:

Q.19) Explanation:
B0 B Soggen =
3x=2(x+1)+5

3x =2x + 2 +5
3x -2x =177
x=7

x+1=7+1=28

Q.20) Explanation:

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

X, X+ 1



Multiple Choice Type Question:

Q.21) Explanation:

Multiple Choice Type Question:

Q.22) Explanation:

Multiple Choice Type Question:

Q.23) Explanation:

Multiple Choice Type Question:

Q.24) Explanation:

Multiple Choice Type Question:

Q.25) Explanation:

Multiple Choice Type Question:

Q.26) Explanation:

Multiple Choice Type Question:

Q.27) Explanation:

Multiple Choice Type Question:

Q.28) Explanation:

Multiple Choice Type Question:

Q.29) Explanation:

Multiple Choice Type Question:

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **



Q.30) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.31) Explanation:

Jl6=44*=1¢
4 x 16 = 64

Q.32) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.33) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.34) Explanation:

X =10;C=100;V=51=6
XC = (100 - 10) = 90

90 +5+1=96

Q.35) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.36) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.37) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



Q.38) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.39) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.40) Explanation:
144 S°Boes H0& = 12 Sesd

12 ey = 360 Erdecsoen.
1 &exdo 30 .
102080 ergfo o

OETPOR B = 1y, ErPcHe

30w —=733
100

Q.41) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.42) Explanation:
3R Do

12

égheEo e

S0Fo Lreeraardd =n(Ta) = 28
Beotd Sreraard n(Te) = 30

n(Ta U Te) =40



n(Ta N Te) = n(Ta) + n(Te) -n(Ta U Te)
=28 +30-40=18

800 Bentd Sreraard = n(Te)-n(Ta N Te)
=30-18=12

SM¥o éﬁ@émd} =n(Ta) - n(Ta N Te)
=28 -18 =10

Q.43) Explanation:

3R o

edfueo e2e0i

So¥o Sreraard =n(Ta) = 28

Beorh Lreeraaedd n(Te) = 30

n(Ta U Te) = 40

n(Ta N Te) = n(Ta) + n(Te) -n(Ta U Te)
=28 +30-40=18

800 Bentd Sreraard = n(Te)-n(Ta N Te)
=30-18=12

S0 Sr&aardd = n(Ta) - n(Ta N Te)
=28 -18=10



Q.44) Explanation:

3R o

esfueo e3eni

S0Fo Lreeraard =n(Ta) = 28
Seorh Kreeraaedd n(Te) = 30

n(Ta U Te) = 40

n(Ta N Te) = n(Ta) + n(Te) -n(Ta U Te)
=28 +30-40=18

800 Boorh Lrertard = n(Te)-n(Ta N Te)
=30-18=12

Bo¥o Sr&aardd = n(Ta) - n(Ta N Te)
=28 -18=10

Q.45) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.46) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.47) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



Q.48) Explanation:

Soth dogge 080 = ... x 5.3°.00°.
35828 = 8.°.5%.x 26

S35 35

—=1378
26

Q.49) Explanation:

Multiple Choice Type Question:

Q.50) Explanation:

Multiple Choice Type Question:

Q.51) Explanation:
4 3850 B0 0°Eyen
5 388 Swgo sl e

** Explanation Not Available **

** Explanation Not Available **

=67+ 69+ 78 + 88 =302
=5 x 80 =400

5 é@%}é’s PO Srednen = 400 - 32 = 98

Q.52) Explanation:

Multiple Choice Type Question:

Q.53) Explanation:

Multiple Choice Type Question:

Q.54) Explanation:

Multiple Choice Type Question:

Q.55) Explanation:

Multiple Choice Type Question:

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **



Q.56) Explanation:
2011 8558 wbarso

2012 88 oS80 sPad @ bre Sogy = 2
8OFP80 + 2 = dorFardo

Q.57) Explanation:
80D ePOBen 08 Sore ERED T .

S3g oS5 DT e &
l l l |

B 'E'l,p

] [ ] 1
TR, S0 g%y BEG ePDEeD Ll TN .
Q.58) Explanation:
80CHrHL ePdBen 08 Sore ErREd TG,

S3g TSI HTd e &
| | l |

B 'E-'l,p

| ] | 1
B0® K05 S° B 0k
Q.59) Explanation:
80COrHE0 ePdBen §0b Sorr Erdd T 5.

83g &I HTd e &
! I l |

B 'E-'Lp

| | I I

Sgr HATD B &0,



Q.60) Explanation:

Multiple Choice Type Question:

Q.61) Explanation:

Multiple Choice Type Question:

Q.62) Explanation:

Multiple Choice Type Question:

Q.63) Explanation:

Multiple Choice Type Question:

Q.64) Explanation:

8 5780 G Ttw 08 Sod% B0 °a R = 4% ©%00.

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

OB NGO 00 n= 3 DoX& oren ©9H&E08. =

P
A=p[1+- 2
100

7
=3?500(11+i]

. 42 18240

Q.65) Explanation:

= 37500(1.04Y°

53,59,61,67,71, 73,79, 83, 89, 97

Sdogg = 10

Q.66) Explanation:
1 Ao = 60 &



1 D00 12 38 = 72 180
1 Kot =60 x 60 = 3600 &

BH0 7

=——x100=2%
3600

Q.67) Explanation:

Multiple Choice Type Question:

Q.68) Explanation:

Multiple Choice Type Question:

Q.69) Explanation:

Multiple Choice Type Question:

Q.70) Explanation:

Multiple Choice Type Question:

Q.71) Explanation:

Multiple Choice Type Question:

Q.72) Explanation:

Multiple Choice Type Question:

Q.73) Explanation:

Multiple Choice Type Question:

Q.74) Explanation:

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

Soth JeE Sogre i &rdo = 50 .



35 JofES Jogre iy e 8rdo = (35-1)x50 = 34x50 .
5200 = 1 Ao = 60 JEHD

30 = 34%50 = 85 ./2.

&0 3

25 18 &.%. /0.

=—x—=102
5005

Q.75) Explanation:
AMERICA INDTIA

1734651 68 961
CANADA
518191

Q.76) Explanation:
2.8 9ot 15009 12 DY HaD ¢y doen = 2/3

1 509 8 DY HAHrng) een= 1

2

3
4
9 %000 12 ¥ 5D &) 1o gririo

2
=
3

1

2

on | o—

2
3

Q.77) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.78) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.79) Explanation:
10 5008 &&5rhe Indo £8o = 10x36,200



= &.3,62,000

15 $00b 68550 3wdo €8o = 15x33,550
= %.5,02,500

25 H0b &&°5he $Soekd 80

= 3620004502500 865250 Eaealen
52 = — =610

Q.80) Explanation:
0rs30 BodeE (908 ooy = x D0 Tren 920508

TP (2508 S = 4%
5 KoBE T Sou a0 S = x4+ 5; 4x+5
4x+5 = 3(x+ 5)

4x+5 = 3x+ 15
4x — 3x =15-5
x =10

BB & 500 = 10 SodSyoeen
oo (08 5000 = 4(10) = 40 oL oren

Q.81) Explanation:

3 B03& ore E0°gd e3cd BYONI I0B0 595000 x5 32
T 100

+ 275000
= 66000 + 275000 = 341000

. %86 &8 = 34100 - 335000 = 6000

Q.82) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



Q.83) Explanation:

Multiple Choice Type Question:

Q.84) Explanation:

Multiple Choice Type Question:

Q.85) Explanation:

Multiple Choice Type Question:

Q.86) Explanation:

Multiple Choice Type Question:

Q.87) Explanation:

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

adbo
-]
o il
Hiu‘l’l" 'LFA.'.“:L"
SBmo
o,
ey B
(=1

3

27 (&0 &1L BENI GOb.

Q.88) Explanation:



(Sin A+Cos A)x Cosec A
= Sin A. Cosec A+ Cos A. Cosec A

SinA. + Cos A.

1
=1+ Cot%"Lqu

SianAd

12 17
142221
55

Q.89) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.90) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.91) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.92) Explanation:
(az—bz) +(a+b)=25

= (a+b)(a-b)+(a+b)=25

.a-b =25

Q.93) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.94) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



Q.95) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.96) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.97) Explanation:
©Y IO = 4200 Sraraden

5% &80 = 25 %

£ do = 4200x100_4200m:5 600 Eraraben
PP SE0 = %% "
OO SO = 5600125 Eraraben

= 7000

100
Q.98) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.99) Explanation:
2.8 Kots® o & Dol grrio

= Llu 1 1; 4+2-1 5 1

%) ﬁﬂ oéae%g éOoc%ééao&

Q.100) Explanation:

©S 100 8°& K 878 3o = 100x 60 = 600

25 8°& 9% 102°@°8 ergrd8 eodogd
25 x 6 = 150 8raraden



80 IO
¢ _150% 110165
100

25 8% 1980 25% JaPR8 0808 9y I 25
® = 150% —— =112.50

DADS S0 K 20% everdd whB 50 i $55 = 50 x 6 = 300

AN IO
¢ 005 120 _ 260

Fwdo B8 s ©Doys Bo = 165 + 112.50 + 300 = 637.50
&30 = 637.50-600 = 37.50

el B0
=350, to0=6.25%
600



